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PHYSICS

1. Example for lnert gas is
1) Hetium

2) Magnesium

3) Radium

4) Uranium

2. lf the velocity of the body is uniform
then the acceleration is

1) Uniform

2) Variabte

3) Zero

4) Equat

3. lf an atomic mass of Hydrogen is
1, sulphur is 32 and oxygen is 16,
then the relative molecular mass
of a sutphuric acid (HrSO/ is

1) e8

2) q4

3) 36.5

4) 71

4. Atomic number of Magnesium is
12. Then the number of valence
electrons is

1) One

2) Four

3) Two

4) Zero

Ilillfl illl lillil lilll illlilllilt

4Fdmn
-.r,J

1. ad elec.:** z,ou$ eruooddd

]) &eOoJ:df

2) ab\eso$dtr
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2) z;d:dodamAcbdd

3) d.ndroondrgd

4) nabaondd^d
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ddd:oro: cios 32 ub* qr8e;Nril

*ddmror uo5 16 qrdd iuqroue
u*d (H2SOJ rode{ *ru, 

"#a

1) eB

h44
s) 36.5

4) 71

abqeaobrtfd dddnroo !oa3, 12 erdd,
erdd d*iE eeir&dfrf$ !oa3,

1) e,oc3;

2I-iloeg
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5. An object moves from A to B in a
circular path.of radius 7 m. Then
its displacement is

1) 7 m

2) 14m
3) 7cm
4) 14cm

6. An object of mass 10 kg is moving
with initial velocity 4 ms-l. lf its
velocity changes to 8 ms-1 in

2 secondsthen theforceacting on it is

1) 20N

2) 30N

3) 4oN

4) 10 N

Acceleration is inverselY
proportional to the

1) Force

2) Velocity

3) Mass

4) Volume

8. A swimmer Pushes the water back
and the water pushes him forward
is the examPle tor

1) Newton's First Law

2) Newton's Second Law

3) Newton's Third Law

4) Zeroth Law

7.

llillil'l 11 ffi tli ['illlllll

5. z,oc3: uoo$6 A obod B ;'i 7 m

g6r)a&d {ercuodd d6;9
Lro*rgqd erdd qddgu;-

-1) 7 m erA&dd

2) 14 m qrnddd

3) 7 cm eiRdrdd
4) 14 cm shcJ:dd

6. 10 kg cn9o3: a-ocb uoo$d 4 ms-I

udoePd derldO a3Ot's9d. qrdd

deitdd:o B ms-1 il
udenoSole3euodd
gio3nen:,d ?red
1) 20 N erndrdd
2) 30 N ern&dd
s) 40 N qrn&dd

*y 10 N erhcbdd

2 t*oarde-qrdd d>ecj

7. deztoe$dr$
&elned:o&acoddfl&$u3>
1) ue;{
2) deilE,

doeai
4) nogEd

8. drarrrod oedd) E"od 9Y.UJ\,rtS'l8 53COff0O e)eON)4 6eoo s?eo(

ne& erdd$o dr:od d$tdd> -
eruoodddoJrond
1) drododdd dode-:de Cct$
2) dJa68d4d addde Co$n:

A d€dLld*d drodde 0Gtd)
4) d.raddd Oo$"n
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9. Potential energy of football on the
surface ground is

1) Maximum

2) Minimum

3) Zero

4) Average

10. The correct formula to find the
velocity of a body with kinetic
energy'K'is

3) v*

4) v-

11. Relation b/n frequency and
wavelength is

1) lnversely proportional to each
other

2) Directly proportionalto each
other

3) Equalto each other
4) Square of each other

12. Humidity of air medium increases,
then the velocity of sound

1) Decreases

2) lncreases

3) Unaffected

4) Will be zero

R
!m

1) V:2

%_
J*

/z^K'

2) v-m

9.

Ifiililtiltllilil ililttilililfit

qrt3d ubroodd d>eei qcbd
qbsozroefd $qd* dgoJ"
1) dq "acbgd
2) da"b qcbgd

,zI flnddoJmncbqd

4) iooHo "adqd

e,ou$ roo$d ade-:dd$ 'K' q*A.rorl,

roo$d derldd:* dodtpGo$od
iOo*,od C.rog

"q,g 
u$* ddorl drod edrlei{

q&d iouofr

-+fe e3./a e dro d: an d d gdr gd

2) ded er$mddQ.bqd

3) ddnd Ea3:,rDnddd

4) ddnd ddra;oncbdd

10.

1{'V = z^E-
vm

2) v-!E
3) v=28

r/m

4) v = /rmK2

11.

12. nogo$O&d de;rood daqdd, dqd
dezl{
1) da&Croruqd
p or"o.rbdd
3) c$odde zudendd rg
4) aod""ioncbgd

AJ
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GHEMISTRY

Atomic number of an atom is

1) Number of neutrons

2) Number of protons

3) Total number of protons and

neutrons

4) Total number of protons and

electrons

Which among the following does

not cause hardness in water ?

1) Calcium carbonate

2) Calcium chloride

3) Calcium bicarbonate

4) Calcium sulphate

Maximum number of electrons

accommodates on oL' shell of an

atom

1) 18

2)2
3) 32

4) B

The particle of an atom that has no

charge

1) Electron

2) Proton

3) Neutron

4) Positron

[lilil rt ! lflllllllll

d:ioo$dvolI

e.oa$ dddmeo:ed 'dd-;== noaS,

aodd qldd

,) droju3drl# no{
2) C.geuoanrl* ro4
3) dgeo3octr abq a3o;4= ,? e"q

-?^ a{
^JV€Lr6

4) d.geonou nbQ'adm=;+ urE
'?^ o{
^l\,cud

dr dgrrddrlsq o$Edlub i:sdfl
dd$dt eruot$d;o&dao :

1) ue^e oJ:o 6od€.'--:'J
' i..)

2) mr{abo dgedrer

3) mrOoJoo z3raoe,5e er- :'J

4) mrO^c3:o id*euf

z.od: dddnrue$ 'L'

13.
13.

14. 14.

15. 15.

16.

dt o$Oduad:evod rtod-..1-- a4 O

'adugnfrl$ loa3,

D18
2)2
3) 32

4) 8

16. e.ocb ddd:om:edp o3nd;de

euf:fioddnbn d.noodd dm

J) 'aeigo'
2) d.ger,no"

3) d-adtgo"

4) a"tuoEof
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17. Existence of neutrons in an atom

was discovered by

1) J. J. Thomson

2) Rutherford

3) Dalton

4) James Chadwick

18. S. l. unit of Density is

1) Kgm3

4K%,

3) Kgm2

4\ Kg/ ,' /m-

19. One atomic mass unit is

1) 1 .66 x 10-27 g

2) 1.66 x 10-20 g

3) 1 .66 x 1O-2a kg

4) 1 .66 x 10*27 kg

20. The by-product obtained during the

extraction of zinc from zinc blende

1) ZnO,

2) COz

s) so2

4) Hg

I tilililt till tilil tilil til ilil ilt

17. dddnrorOdg drodt,3Nfrlg

e&atab$* dgd?*ddcb

,A) C.d. e+,ar
2) cbdcfdJoecs'r

3) egoe-to.n

a) dedtr eroeof&tf

18. xoogido$ eloddcroegeoS: (S.t.) drod

1) Kgm3

a\ Kg//z) / m'

3) Kgm2

o, K9/
't /m'

19. a.oeb dddmro co$ (a.m.u.) oodd

.-+l 1.66 x 10-" g

2) 1 .66 x 10-20 g

3) 1.66 x 1O-24 kg

4) 1.66 x 10-27 kg

20. !&ad {oae&od !&dnb4 w{deo
drou4:aiorl drodotDd wd-wd.do

1) ZnO,2

2) COz

s) so2

4Hg
7
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21. Chemical name of baking soda

1) Sodium bicarbonate

2) Calcium bicarbonate

3) Sodium carbonate

4) Calcium carbonate

22. The reason for floating of ice on

water

1) Density of ice is more than water

" 2) Density of water is more than

ice

3) Density of water and.ice are

equal

4) lce dissolves in water

23. An example for chemical

displacement

1) N, + 3H, + 2NH,

2) 2HgO + 2Hg + O, t

. 
3) Clr+ 2KI + 2KCt + I, I
a) MgSOo + NarCO, ->

MgCO, J + NarSOo

Ellffillllllllllllllll

21. el&fl ineceod uex?€i: dnd)

1 ) f,rneGo3:o e,3rar-t : =l :Uf

2) uor{o$o z3rrod.t: -- : .:.

3) f,.oeBdlo tadn:=.': *

/) mogdo rosltoerri--:

22. aborcrld Scod *eeJ dle:) rodeo

1) u3roaorl€oJ, ;ooo5i€ i:3d

zuoogidnod dE
2) Oeod :mogid aboecrl{ol>

xoogidnod dE
3) 0ed: abq ,$oaortdo:: xooqid

iaJraroncbdd

4) droasrrt{ Oeodg 6orbdd

cnxoo$sd EBsdgus 3o$d

erDUJoddd

1) N, r- 3H. + 2NH3

2) 2HgO -+ 2Hg + O, r

3) Cl2+ 2l{. -+zKCl + I, J

A Mgsoo + Narcor -+

MgCO. J + NarSOo

23.
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BIOLOGY

24. Natural gas is the least pollutive

source of fuel because it has low

content of

1) Potassium

2) Sulphur

3) Phosphorus

4) Chlorine

25. The main causes forthe

desertification is

1) water logging and salinisation

2) soilerosion and afforestation

3) weathering of rocks and

deforestation

4) mining and use of chemical

fertilizers

26. The crust of the Earth is

1) Atmosphere

2) Biosphere

3) Lithosphere

4) Hydrosphere

I llilllll llll lllfi ilil ilt Iilffifl

25. ul:&e&oeDeddm** aodeourod Sut osD

erodrl$:

1) drrbed

Sedyoi

drlnrd e&ed d0{ droOdddoi)

.qodd drnexrofld. afodd qddO

rBd) EdDoodooem

1) dpoos.ho$dr"

2) rlodd

.B) doard

4) Ageoan

odrdeddeoabd)
--.0

3)

4)

.2) d>*d dd8e a$q ude6reddeo

SO0eddco a$$ eldeo"and,rO-

risErrood a$6 cnmoJ:&d

rlozgdrl$ e^l9E

CJoeDo$ ;beerddd a;orl

fi aoobrloed

2) dedrtoe9

3) ,&enr(oe*

4) ere-trtoes

26.
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27. The basic unit of classification is

1) Family

2) Genus

3) Class

4) Species

28. The following is one of the

characteristics of Red Blood cell

1) Nucleated and Amoeboid in

shape

2) Enucleated and Biconcave in

shape

3) Nucleated and round in shape

4) Enucleated and amoeboid in

shape

29. Nucleolus are involved in the

synthesis of protein becausethey

are enclosed by cellorganelle

1) lysosome

2) centriole

3) ribosome

4) mitochondria

28.

27. dAreddrod d:oe.t

1) $o,lrou

2) aso8

3) ddr

-4 daled

1) doeddeo6iieod

sJr-0d

fl EneEdeoqidbd

eJ6od

3) Soeddeo6fibd

4) d.oeddeoqid&d

eJ6"d

ffiiltIIIffiililllllil

dr Sdnd$d$Q tod;u=.=t:-

rbco

{r*r
C^^/ g^,

..:

-?\<\ acr-?.:^.}-(^ qJa./c^Ir.
la

;: -"\t p oYtv\&\WV

J-r- *-^--,c^!9- !.1\r(J9OUU:

d:e. ea)oearo

29. sd:{nedteogid dge rJesf d

iodeddo$O aoeJn$;.dd a*odd'-------- (w) n QJ

eddO erd.dil"h&; drcaort'.4eJ

1) eirf,oedoedtr

2) doglC.laeef

,3) d-lfued-oedl"
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30. The enzyme present in HIV

1) Protease

2) Ribonuclease

3) Reverse transcriptase

4) Triptase

31. The mineral essential for the

functioning of prostate gland

1) lron

2) lodine

3) Potassium

4) Zinc

32. The function of Androecium of a ,

flower

1) Protect the inner parts of the

flower

2) Produces pollen grains

3) Produces ova

4) Produces brighfly coloured

petals

33. Organic farming stricily limits the

use of

1) Compost

2) Biopesticides

3) Green manure

4) Chemical fertilizers

Itililtiltilil tilililttililtil

datr.c.a.o$Ocbd Bro
e!

;) {geo:e:n

2) d,z3.oeso.Ee:f,o\

3) oilrr r,ofE,osxf
' -)- ^P 

g-

4) o3dexf

31. a3fleoue doQd, te.:fdd:u Oo3:oplu:

elddramd $&s;

1) dalm

2) oco3.o€Cilr

3) {Borooa,.oto

A !,d)

32. d/os$Q&d goteddd rao$r

, C,Ja.)d z.9zplrtrl*$4 dsxiJdd

2) doorlrl$d;* wqOxbdd

3) etoerorurl$$4 wogOfc{d

4) uddrd a,oqrlgd:o d.noOd:d

d*n$$, e,rsiOxbdo

33. xn#o$d d,& dqgo$g tt,33er,Bn

e;$Bod:{ct:

/roo{pe{
2) dd.)d 3ee,:arodd

3) d,ldrlozgd

4) dirio4,o
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34. The correct matching of enzYme

and their function is

A. Amylase 1. Converts starch

into maltose

B. Lipase 2. Converts sucrose

into glucose

C" Maltose 3. Gonverts comPlex

fats intosimplefats

D. lnvertase 4. Converts maltose

into glucose

1) A-1,8=3,C-4,D-2

2) A-2,8-1,C-3,D-4

3) A-3,8-2,C-4, D-1

4) A-4,8-2,C-1,D-3

35. ln the initial days of Earth's

formation, elements d istri buted

in the outermost laYer are

1) lron and Nickel

2) Aluminium and Silicon

3) Hydrogen and Carbon

4) Nitrogen and Sulphur

34.

A.

il I I llililillllllllllllllill

sB nfrq erddg sotr; lOc*,od

d.noerordd

eldore3exf 1. &{=;l:d *'nejqexie

qrR SoigEiDdd

B. e3rdexf 2. t'DAEe:fS, {*oexf
qrn #Oi3rt'i:3d

3. loSeror +edi$u

ld$ d:edq qrn

doderio{d

p. dnelgexf

dJodddddO dozidnend

lrr
2)

D. eddu3re:f 4. dmel4ef$*

rbine xoqJA

d0dBrlodd

1) A-1,8-3,c-4,D-2
2) A-2,B-1,c-3,D-4

//
6l a-3,8-2,c-4,D-1
4) A-4,F -2,c-1,D-3

35. ?inaDo$ ugdoa.id dodde)

Oad:rl$o

3z3ro ab6; Dd,e,
;J9

ere.o^&)&ci:o *:d: ne)mif
o --.0

S) drdgeagf d:d: t-ozurf

+) drulgexd abd: ied
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HISTORY

36. The Sth principle preached by

Vardhamana Mahaveera was

1) Non-violence

2) Astheya

3) Brahmacha.rya

4) Aparigraha

37. Match the following and choose the
correct alternative.

A) Egyptian 1) Euphrates
Civilization and Tigris

B) Mesopotamian 2) ltaly
Civilization

C) Chinese 3) Nite
Civilization

D) Roman 4) Hwang Ho

Civilization

1)A-3, B-1,C-4,D-2
2) A-1, B-2, C*3, D-4
3) A-2, B-4, C-1, D-3
4) A-4, B-3, C-2, D-1

38. Meghadoota : Poem : : Abhijnana

Shakuntala:

1) Essay

2) Drama

3) Novel

4) Collection of poems

Itillilfiiltilililflilillilillilt

q€mai

36. dfrrdnd ai:ooo0edd: dro(Qld 5de
))eB

l|Eihon
2) udeoi:

3) ry.C"Co3:r

4) erdD(d

37" *dndd)rl$$4
erudddnoOrl

A) d3d4

-J^JJN9nUU9

looirod doJ:orotr

d.oo0,x.

1) o$ogt;Fc

13

r$* uic!$xio

B) *nduodro&Do$ 2) ..auO

-J^JJN0{luu9

C) e3e;ro ;rorlodd 3) ddef

D) dJoe;$df 4) droorln

oorlodd

*rA-3, B-1, C-4, D-2
2) A-1, B-2, C-3, D-4
3) A-2, B-4, C-1, D-3
4) A 4, B-3, C-2, D-1

$e#dnd:tadr::elaiwg3
u-od:ode.: :

D darod
2) mord

3) mdouo

4) ddd Io{d

38.
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39. Texcoco in Mexico is a/an

1) Sea

2) lsland

3) CitY

4) Lake

40. Aihole, the cradles of temPle

architecture is the contribution of

1) Chalukyas

2) Kadambas

3) Shatavahanas

4) Gangas

41. The Malwa and the Deccan Plateau

are separated by the river

1) Mahanadi

2) Tapti

3) Godavari

4) Narmada

42. Name the Veda, which has more

than thousand slokas called

'Suktas'

1) Rigveda

2) Yajurveda

3) Samaveda

4) Atharvanaveda

r ililil ill llllll lilll lll llll llll

&Stroed [3Ef*ne/o (Texcoco)
^) ^J

ooe.lcb a.oul>

1) !ild
,Yqrd

^\ 
JJJ\r/ Nr tu

4) ndoedd

deavoe;abd amt'gae;d An$ort$$
a,ocrod odn$otD qdd

tno:riormnd

1) aroodrd>

2) ddoudr

3) uodaoddcb

d$df ild#,ntuo$$,
- 

trJ

ila

1) d>oodo

2) dde

3) rtoeesodO

/)-dubrcro

'indrl€od>' ddo$e;d:d xosddn*

d?3d d.oedrlgd:, d.nood:d ded
?J (.4 e(

*t'*rr}rd

2) oJraodred

3) mu3rded

4) uddreoded

39.

40.

41.

l|rlorlcb

dmg afr{
zSed16,$&d

42.
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43. The correct alternative for the

following sentences.

A) The Eastern Coasiline is called

as the "Coromandel Coast,,.

B) The imptements of the Middle

Stone Age are called delicate

Stone implements.

1) A is true, B is false

2) Both A and B are true

3) Both A and B are false

 ) A is false, B is true

44. ln the prehistoric age, the usil of

fire and signs of ashes have been

found in

1) The caves of Kurnool

2) The caves of Ajantha

3) The caves of EIIora

 ) The caves of Elephanta

45. The symbolic language used by

Egyptians is

1) Latin

2) Hieroglyphics

3) Cuniform

4) Greek

I ilililt lilt tillll ilil ilt tilt illl

43. t$nd usodrrlgrl !Od./ooe$d eio$,

a) *.odr dcndeo$d.ru

"*neda3:ode.: .ged" aoc$

ddo$osod.

E) *d,,otDdd Sen BOddr(Sabd

fui'. gero dOddrl$c aocl>

ddotoEd

1)ado,sdq
2) a ubdl zc oddo io
3) a abd: s3 adc*ra dd)

/f a dair , D Bo

2)

3)

4)

45. dtd*drqd, a$xbgd lotedil$ z;nd

1) eno3ce

,zA &,daeri ,*a"( rv d

g) d,a,Opodtrr

15

44. ugrlrgaa,:rd roe.:dO a3o3 aor(o

?J/oao$ d:cba&rl$c drad.gcbdub

ff{f-"re)d rbdd$b

ea;oso rbdrl$c

ac3,gedd rbdrls

ae)froond rbdrlgo

4) letf
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GEOGRAPHY AND ECONOMICS

46. The latitude that divides the earth

into Northern and Southern

hemisphere

1) Tropic of Cancer

2) Tropic of Capricorn

3) Arctic Circle

4) Equator

47. Ruby, emerald and diamonds are

found in

1) Metamorphic rocks

2) Inorganic sedimentary rocks

3) Extrusive rocks

4) Arenaceous rocks

48. Artesian wells are more common in

1) Europe

2) South Africa

3) Antarctica

4) Australia

46.

I tililil1 lilt flfi lilll lil llll lill

dortne$ dr* el$ruoi

?iJoeDo$$4 w$cnfrr rtoe$ afrq

dflro$r rlne$rlq;oR AqtonfDt

egro odcI

1) dr-ort^ld iorgo.9 dr{

2) "bdd ioqo€ drd

3) udreJd dr9

y'ffiuJ:qtoeud dr{

ilg, u.roD E$e od)uoer@ng6$4

dooo&d Aerrl$

2) udrad deo SeJrlSc

P)-ob{deo sejrl$r

4) a$d$b$o$ 9e3r19l

48. erusre:ro$nf eroOrlg: ee3 dtTR

dod:a^ld:d)u$

$-oJ:odoeadeJ

2) dfieo ugrod$

3) uountrrt3t"dg

a) eriee)o$Dde)' g) '/)

47.

16
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49. Granite, Diorite and gabbro are the

best examples for

1) lntrusive rocks

2) Extrusive rocks

3) lnorganic sedimentary rocks

4) Organic sedimentary rocks

The distance between two

consecutive lon g itudes decrease

gradually with distance from the

equator because

1) All the meridians of longitude

converge at two poles

2) Allthe meridians of longitude do

not converge at two poles

3) All the meridians of longitude

converge at equator

4) All the meridians merge with

latitudes

The correctly matched volcano

with its country among these

1) Vesuvius

2) Krakatoa

3) Pelee

4) Fujiyama

- Japan

- ltaly

- West lndies

- lndonesia

51.

49.

Iilililttilttilil tililil ilililil

rgdds, doinedrr,$ ;$q modg
edd$: dr gdilerl w$uf:
eructaddddqrond"

1).ecdidro Ae3rlsb

2) abideo Aejrl$b

ild dro Seirl$t

E dio $ejrl$c

50. iabz;roa;d drdOod €dd tsdd

d.nedod odd: dea:oodrlg eloddg

&Wodaron dGaboJmrbao dneif:$d.

uodro

1) aEB dearoodrl$o adcd,o

Qdd9O ioelcdd
2) Dets dea:oodrl$c addo

€drlsg ioexbdoe;

.A D% dearoodrl$c idc4nasd
J JJ.O\t gdg no6xi:dd

4) DEts deamodrlqb

er6"oddd,ooOrl
a\

eOedri.Eqdd

3) eidrl

4) dde

s1. qdrf$g u\ddrdrl$o dod:o&d
deddnoOd lOoJron

d,noDie.:,,S&dctr.

1) d$.,o&c$:f - aia"af

2) !;du3,oea5 - "at^10

3) .:reOe * d{ ?oG€f

,+l-W,"rx"lrab - qodoede&CJo
17
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52. Tsunami waves are caused mainly

due to

1) Underwaterearthquakes

2) Under water volcanic eruptions

3) Cyclonic depressions

4) Monsoon winds

53. North lndia lies in the temperature

zone

1) Torrid zone

2) North temperate zone

3) South temperate zone

4) Frigid zone

t l'z

I lllllil llll llllll lilll lil llll llil

52. io;:oeo qeeJrlqdeD SS, rodeo

1) nortd d$de4otrolod qradodrlsl)

)-l mrld dddegounrbd

er\ddrdrl$ *q€rr

3) mCr:apd Erldood
zSoddvod:drl$b

4) a3cDo'nraof drocbdilS)

53. e,Dgd qrEddd e&d eruagodd de.:ol>

,+) erud de-:o1:

2) erodcnQr na3:Aed,oe{

3) dflraofrr nd:9edne{

4) 5ed de-:c3:

de-:o1:

C^JvU\ J

1B

\ ---''=' -=-.-{'*dI), 

"zsls\ 
uL =/,66 +S 

\---<=l

above line hide when print out-inyatrust.com
Use E-Papers, Save Trees

www.inyatrust.com
www.inyatrust.com


sAT(K-8)

54. The gaseous atoms are ionized in

thermosphere because of

1) Very cold temperature

2) Absorption of ultraviolet rays

3) Very high temperature

4) Decreasing pressure with the

increase of altitude

The biggest latitude is

1) Equator

2) Tropic of Cancer

3) Tropic of Capricorn

4) Antarctic Circle

56. Theocean of theeastof Australia is

1) lndian Ocean

2) Arctic Ocean

3) Atlantic Ocean

4) Pacific Ocean

57. The non-renewable resource

among these is

1) Gold

2) Water

3) Solarenergy

4) Oxygen

ililtiltilililll!lllililllilfit

54, w{uoa$ode.: (Thermosphere)
o&ed eeso:rl$c ero3D$r(qon

doddrd a&node.:o uadro

,r) ugd eis (5ed) daub wqod
2) eg er€dedd 6deorl$d:,

beodla+b;ddood

s) egd uB wddobod
+) a{Od* d.oedod e^,dd ddmeo

da"boJrorbddood

55. erdrod elB d/o€ elqod{

1) da$siroa;d dr{

2) daart^:d Bor3c8 d.d

3) u$dd iorgo8 drd

fi-uotoaerf,Sf dr{

56. u$eOolmd dndrt&d xorld

1) &oclo u$aaroorld

2) udr[Jf ;rorld

3) uo,qotJd :rorid

lYdheef ;orld

57. qdrl99 atDncb dnerbd

ioild.onetrl9:

ddo

2) &ecb

3) sdds

4) uQardE

19
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POLITICAL SCIENCE, SOCIOLOGY
AND BUSINESS STUDIES

58. The word 'politics'was derived

from the Greekword

1) Republic

2) Politics

3) Polis

4) Police

59. "A Modern citizen as a member of

a civil society bound to it bY

certain duties subiected to its

authority and an equal reciPient

of its advantages" defined bY

. 1) Vattel

2) Plato

3) Socrates

4) Aristotle

60. Which of the following are the

reasons, regarding loss of

citizenship ?

A) Renunciation

B) By application

C) Termination

D) Deprivation

1) AandBonly

2) A, C and D only

3) BandConly

4) A,B,CandD

I illlil llll llllll lilll lll llll llll

ooe5"uo5, Sotrtoaiuox-- u 5 ^ .9-roeda;ren1i
c^IJ tAJ

58. 'aroOg3ao' ooa,l

$eur dd
/rl od?2d

2) me)t^3d

3) C,ra0xf

4) doOexf

dd wd"$rlood

59. "ufr:Od anrtOed ldmrd nd{rnnd3
Oar{ ddrdrrlgrl al{iton :ndmd,

BQrodt* t sdq eld: &e&d
#e;drrlS$* ld:od;ron
epd:z$nefli,.:ddde dod" aoul>

rrodarodo&dd&.

1) moder

Q,Qevtee
3) na!eu3:i6

4) ooh"sef

60. e*:oddd #dgdtb4 #u$flnd)at

radeorlqj:

a) dooorrl

D) *dao$ droe-:d

l) elodrrto$ga8

E) dda$,jg

1) oc:EDdrog

J) a,x, drE c drog

s) z)il.{tudrog
-4) a, a3, Xr abE C

20
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61. One of the following statements
is not a special characteristic of
the Electoral photo ldentity Card.
(EPIC).

1) lt is issued by Election

Commission

2) To provide an opportunity to vote
in allthe places of his convenience

3) To prevent impersonation

4) To use as a proof for general
identification

62. The functions of local self
government

A) Gleanliness and sanitation
B) To protect property

C) To prepare the annual budget
of the state

D) To encourage the Collegiate
Educational programmes

1) AandConty

2) BandDonty

3) CandDonly
4) BandConty

63. The Sociologist who did a
sociological study of the labour
force and the Christian religion.

1) Max Weber

2) Emile Durkheim

3) Herbert Spencer

4) Karl Marx

21

I Iilflilt ilt iltill ilil ilt iltilil

61. dt t$nd e.ou$ dep* a$doodd

WooJDEeol: rb&.9d aier^3o3: (EplC)
d,sC ^de;.eJ eJO e.

7fl-z$andrao ero3roerlOod &ede-:Sd

2) ddd er$d.oed qcbd aen

49d99 udDod uJ:desod

dsode;: etdrod&d
3) edd n td a3:derod abodrd

dqo$c$"bd ddCDd)cn
4) ,$derDdd rb8rxbDdc$

ui:oodcJyon elgd

deed: do$o irardrleJ uoqtrrls:

il) *qd u1>q &u$re)eddro

e3) ddd mo*d ei,x dgd

,l) oorrd drorld dg do$oO8

G) uoeiem bdmd roo$rd;$rlgib.' aJ J---- - -'-a

dlgeugaaxb{d:

1) e ob+ e dog
2f n d:* a drod,

3) &,5.EA,5D9
4) z3 a$d) ,X dJog

#ddyo6. rJrqgedrif du$r $od.)
id.nruoge o$ elt' oJ:d d;oBd
id:oesyoia

=9€P
1) dredq da"rd

2) oacO dsrdr
3) dzorttrr ffi.f
4) mefr dr{t

62.

63.

above line hide when print out-inyatrust.com
Use E-Papers, Save Trees

www.inyatrust.com
www.inyatrust.com


sAr(K-8)

64. Hung Assembly means

1) One party gets the majoritY

2) Forming government with the

help of more than two Parties

3) No party gets the required clear

majority to form the government

4) Some of the political parties join

together and make alliances to

get the required majoritY to form

the government

65. "Division of labour" is nedded in

1) Cattle rearing societY

2) lndustrial societY

3) Farming societY

4) Hunting and food gathering society

66. One of the features of Cattle

rearing societY

1) lt is a big societY

2) Cultivation is the main occupation

3) Division of labour is needed

4) Evolved various skills

64.

I lillril llll lllil lllll lll llll llll

odo$ apodnzi aodd

r'f) a,od: dg t* z:6rdrg

daCrd;;:

2) add{od dq d$rlqJ idr-odood

irordd ddd

c$od dgdr, imrd dd.3d

z3esd>d id e,-ld>abd "agaddcb

f odt d11rl$) doCoeegdrtnodl

erddr.)cbd idid ele-:dd:*

Foae$dG,l dmrd dz3d

-J-,!\ -!.,i\c^NUUg.Jq)u J

3)

4)

3)

4)

66.

65. -g* adad'ob elrldo q$d)ct)

1) dd:ooe-:uo ndsordeJ

--2)-E noor-o id;oadO

dd.hd ndro&dg

zieoJoJsod:d oorfua e;6"d

no5ib$d nd:oa;dS

dd:roe.:;l-o idmrd rbme.:d.mrl99)

a.odr

t ) no$aeJ oo(oond

2) z3emoJo dd::sl wdn erlamtrd

9-4dr azia:d elddrannd
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67. Which of the following arethe
problems involved in barter
exchange system ?
A) Particular 'of common

measures of value
B) Difficutty of sub-division
C) Lack of double co-incidence

of wants
D) lts easy to store and

transport the goods
1) A and B onty
2) CandDonty
3) BandConty
4) AandDonly

68. Stock exchange markets of lndia
are controlled by

1) SEBI

2) NSE

3) BSE

4) NESDOC

69. Which one of the following point
is not a suitable feature of the
wholesale trade ?

'l) Traders don't keep high margin
of profit

2) Buy goods in large quantity from
producers and sell them to the
retailers in small quantities

3) Traders deal with one or two
types of goods

4) Entrepoted goods

70. The sociologist who study the
evolution of society

1) Emile Durkheim
2) Herbert Spencer
3) Auguste Comte
4) Max Weber

23

I fi ililt ilt illlt fiiil ilt Iilililt

67. dxb A&u$o$ dqgof, labirrlS:
a) dPe.:"d er$d i;$drdaioAd,t)

a) dxbrl$ AqJdxbd *./odd

&) ?robdrl$ ubdl dnooordto$
erodg

c) drbd$ xarnrdt ubq !o!d
xbe;zpaond

1) a;rdr&dslg
2) x, il& e ffiDg

?Y|e n$+ & 
"bog,

4) ,r d:d: C dJDg

68. q:od.9eo$ de& dro&d€rl$i$4
oo$c9,rbd ,ot,
1) SEBI (dD)
2rNSE
3) BSE
4) NESDOC

69. 5ilo.rJ do.Fout, xngd()6 e^,od)0d,-eot
edo$dodd
1) dz$ e;oeJd d.dneo ca€,Jo:dreJe), _U t J -'-eJ-- -v-- i6

,Wd*ds$d dzq {dcorodp
en:soddOod d,ood: iro
Ait#maQ e,sgd uro.*Bnnri

9
__J_ J- _ J
cJ,,,)(.)LU\9clO

3) rocJ: iO* adad: e;riol:
dqdqj$q d;ocn* dou*:qd

4) d$d$dbd dDdcf dqb dod:ood

70. Bd:oasd eraidab* eddo$d dmaa
idyoryo!a

'ir €'
1) aa:O-d3rdf
2) dzurotrr SOcf
sY61s ar*ff
4) dDrq de.ro
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MATHEMATICS

lf the central number of 5 x 5 magic

square is 13, then the magic sum is

1) 25

2) 52

3) 65

4) 18

73,

1) 3

2)5

3) 6.4

4) 6

lf 13 + 23 + 03 + 43 = x2, then x =

1) 5

2)7

3) 10

4) 15

The sixth triangular number is

1) 6

2) 10

3) 21

4) 28

74,

71.

I fiilill llll llllll lllll llllllllill

rlsdd

5 x 5 dnoiyoe,sotsd u$ddd ioa3, 13

udd, dJoot o dnd-

1) 25

2) 52

a)65

4) 18

72. {i_6;

74.

.l oQaQ

1) 3

2)5

,4 6.4

4) 6

1s+23 +33+ 43=x2qrdd, x=

1) 5

2)7

-gf 10

4) 15

qrdde g{;o(&eo$ ioa3,

1) 6

2) 10

3) 21

P28

ig-Je

24

21+ ,119 - J0

above line hide when print out-inyatrust.com
Use E-Papers, Save Trees

www.inyatrust.com
www.inyatrust.com


sAr(K-8)

75. The product of two rational

numbers ' - 35
," lg . lf one of them

.5," te , then the other is

4\ -2r/ 
S

6\ -7zlS

ar - 1'1
v, I 4

4)+
76. Ashopkeeper bought an article for

{ 320. To make 256/o profit, he
should sell the article foi ttre price

1) r 400

2) { 500

3) t 450

4) t 600

77. Thecorrect statement for the given
data 55, gB, 69,24,99.

1) Median = Mode

2) Mean = Mode

3) Mean = Median

4) Mean = Mode = Median

78. ltx + y = I and XV = 15, then the
value of x2 + y2 is

1) 32

2)s
3) s6

4) 38

25

Iilritit tiltililt ilililtiltilil

75. od& e'parle;u ioa3rrlg rbroe.:a;
__ 35

lg qrf,d. udrlSO e,oCo eo:orleu

qsdd, u$dnoc1>

t+
4) =#

76' 
:?,-TrToo*D a'ocb dtts,
T 320 t tnodab. erdnb -2So/;

emal ddobaser?dd e, dxbdnb4
d:ocBt^g d:oda3erod z3d 

r
J) < 400
2) T 500
3) T 450
4) T 600

77. 55, 38, 69,24,99 qg *"@tdcbd
denodried XOot'ad deeg
1) uS:qo-od = doee,jej
2) tscniO = draQajd

3) xo-oio {r: a-/

,+f xooxo = ffi5; = d:eerod

78. x + y =8u$* x}/ = 15erdd \z +yz
d eJej

1) 32

2)u
-gY %
_.4) s8

r?aa{ 5
^\./eqrd ,12

1) #
2)+
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79. The value of

1) 10

2) 2.8

3) 12

4) 4.6

82.

6.4x6.4-3.6x3.6
6.4 - 3.6

lf A = 5m + 11n - 15P, B = 12m -
13n + 19p and Q = 7m - 6n + 21P

then the value of A + B - C is

1) 24m'Bn + 25P

2) 10m +4n-17P

3) 17m -2n+4P
4) 12m+ 5n - 4P

The factors of x2 -2Y + xY - 4 are

1) (x-2) and(x+2+Y)

2) (x+2) and(x+2-Y)

3) (x-y) and(x+2Y-1)

4) (x+y) and(x*zY+2)

Two numbers such that one of

them exceeds the other bY 9 and

their sum is 81. Then those

numbers are

1) 36,81

2) 28,36

3) 36,45

4) 28,45

is

80.

81.

6.4x6.4-3.6x3.6

I ilililt llll llllll lllll lllllll llll

*-?-l oQrcl-o((r\., (rv79. 6.4 - 3.6

1) 10

h-2.8
3) 12

4) 4.6

80. A=5m+11n-15P, B=12rn-13n
+19P*qQ=7m-6n+21Pudd
A+B-Cd dej

+flm* Bn + 25P

2) 10m +4n-17P

3) 17m '2n + 4P

4) 12m+5n-4P

81. x2'2Y +xy-4d erdddrdrld:

1) (x*2) abQ (x+2+Y)

2L(x+2)aS:Q (x+2-Y)

3) (x-y) c>q (x+2Y-1)

4) (x+y) "$E $-2Y+2)

,.v

^ur

82. e.oc$ loalrCl 'adrc*oc3: loa3Pod

9 daqnd u$q er{rt$ *"9d 81

uhd. atrrodd u ioa3rrl$.>

41 sa, at

2) 28,36

3) 36,45

4) 28,45

26
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sAr(K-B)

83. The value of (10;tso-:- (101t+o ;.
1) 1000
2) 10000
3) 100000
4) 106

ln the given figure the value of x is
1) 17.
2) 18"
3) 90"
4) 19.

ln the figure k ll m,/ is the
transversal. The value of a is

1) 45'
2) 25"

3) 30'
4) 50.

a+1 5'

27

83.

84.

(10;tuo*-(101tas 6
1) 1000
2) 10000
3) 100000
gl rc6

IilililtllilfliltIilililtliltilt

oQal

A

dJor*&d
1) 17.

218
3) 90.
4) 19"

85' 'u,6o

?"9gdg x d a^3eJ

q0 ll4xt:c
@t+

q0 +t7-+v
4kzt

I

2a+15"

+1 5"

= t60

1 TSU *q6
ffi{
',-*-l

,w
,.8

,+*
"@'

6eL#,
*

e"igdg k ll m, / e.3eddanfld. a d
oQn{

1) 45"

?f zs'

3) 30"

4) 50'
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86.

ln the given figure if AB = BC, then

the value of x is

1) 60'

2) 120"

3) 150"

4) 30'

ln the figure AABM ; AACM. The

value of x is

1) 20"

2) 19'

3) 17"

4) 22'

2x+3"

86.

r flilllll ilr lililt Iilil ill llll llll

Dv

fl,otdCrd t"3gdg AB = BC egdd, x d

zSeJ

).Y{0"

2) 120"

3) 150'

4) 30"

?^3gdg AABM - AACM.

1) 20'

2) 19'

3) 17'

4\ 22'

x d z,SeJ

2x+3"

28
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88. The correct statement for the given
AABC is

89.

B

1) AC+BC<AB

2) BC >AC+AB

3) AB+BC<AC

4) AC + AB > BC

lf the angles of a euadrilateral are
in the ratio 1 : 2: S : 4, then the
smallest angle is

1) 72"

2) 36"

3) 18.

4) 144

Maximum number of obtuse angles
that a Quadrilaterat have

1) 1

2)2

3)3

4)4

29

Ilillililtlililililtilliltfit

*rotd&d 9%bsu ABCri louop,ldod
r?n^J-J -J--q-9
^JV'\,( )gq) (X)\:\/t

BC
1) AC+BC<AB

2) BC>AC+AB

SYAB+BC<AC

4)AC+AB>BC

89. e,"oeb eJd:e;brrd *nedrl$ ernbosodd

1 :2:3: 4 t*dC r^l{ d,nedd ee$d

1) 72.

?36
3) 18"

4) 144

90. e,ou*: a3d>e;bras d.oo0de;ad:cnd
i,yoe.:8,neilif g rlOd ioa3,

1) 1

2)2

3) s

*!-4

above line hide when print out-inyatrust.com
Use E-Papers, Save Trees

www.inyatrust.com
www.inyatrust.com


sAT(K-8)
lllilllll lillllllil lllll llllilllil

lnstructions to Candidates

1. The Question Booklet containing 90 questions and the oMR answer sheet is given to 
I
I

vou. I

I

2. All questions are compulsory, each question carry one mark' ]

3. During the examination,

. Read the questions carefullY.

. completely darken/shade the relevant oval against Question No' in the oMR answer

sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet'

. Ex: ln a question paper if sl. No. 3 is correct answer for Question No' 20' then darken

oMR answer sheet using blue/black ball point pen as follows'

20. C @ C @ fihis is an examPle onlY)

4. lf more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.

5. The candidate and Room supervisor should sign in the oMR sheet'

6. candidate should return the oMR answer sheet only to the room supervisor before

leaving the examination hall'

I

I

L. ,n" calculator, mobiles and any other electronic equipments are not allowed inside the

II examination hall.

Ir
I
I 8. fngtish version of the question paper will be considered as final, in case of any dispute

I arising out of variation in translation version'

I

mpu: ineJdcd rdc uwffi d1 dgt*; dacqnddo_ &)gie,eid
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